136B4, Z = 56 N =80 adopted link |[ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020
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BE = 1142.775 ( 0.000) MeV

Energy T J+ J- J-other T1/2
136BA 1 | 0.000 o+ | | 1 STABLE
136BA 2 | 0.819 2+ | | 2 1.89 PS
136BA 3 | 1.551 2+ | | 3 0.89 PS
136BA 4 | 1.579 o+ | | 4 735 FS
136BA 5 | 1.867 4+ | I 5
136BA 6 | | 2.031 7- | 6 0.3084 S
S-alpha= 2.033 ( 0.000)--- -—= -—= -
136BA 7 | 2.054 4+ | | 7 0.87 PS
136BA 8 | 2.080 2+ | | 8 1.0 PS
136BA 9 | 2.129 2+ | | 9 50 FS
136BA 10 | | 2.140 5- | 10 1.6 NS
136BA 11 | 2.141 o+ | | 11 0.26 PS
136BA 12 | | | 2.154 (1,2+) 12
136BA 13 | 2.207 6+ | | 13 3.1 NS
136BA 14 | | | 2.223 (2,1)+ 14 0.63 PS
136BA 15 | | | 2.299 (6-) 15
136BA 16 | 2.315 0+ | | 16 0.85 PS
136BA 17 | | | 2.349 17
136BA 18 | 2.356 4+ | | 18 0.51 PS
136BA 19 | 2.374 5+ | | 19
136BA 20 | | 2.391 3- | 20 0.21 PS
136BA 21 | | | 2.392 (1+,2+) 21
136BA 22 | | | 2.400 (+ 22 118 FS
136BA 23 | 2.431 3+ | | 23  0.20 PS
136BA 24 | 2.485 2+ | | 24 146 FS
136BA 25 | | 2.533 3- | 25 76 FS
136BA 26 | 2.544 4+ | | 26 0.44 PS
136BA 27 | | | 2.562 27
136BA 28 | | | 2.587 (5)+ 28 0.83 PS
136BA 29 | | | 2.641 1+ 29 55 FS
136BA 30 | | | 2.660 (3,4,5)+ 30
136BA 31 | | | 2.661 1,2+ 31 73 FS
136BA 32 | | | 2.694 32 120 PS
136BA 33 | 2.694 5+ | | 33
136BA 34 | 2.774 2+ | | 34 180 FS
136BA 35 | 2.780 2+ | | 35 0.28 PS
136BA 36 | 2.784 0+ | | 36 42 FS
136BA 37 | | | 2.812 (3+) 37 0.15 PS


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=136Ba
https://www.nndc.bnl.gov/ensdf/
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S+2p
S+2n
S+alpha

gap p
gap n

8.594 ( 0.000)
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7.972 1- | 220
8.007 1- | 221
8.083 1- | 222
8.125 1- | 223
8.144 1- | 224
8.171 1- | 225
8.184 1- | 226
8.228 1- | 227
8.251 1- | 228
8.280 1- | 229
8.315 1- | 230
8.339 1- | 231
8.359 1- | 232
8.390 1- | 233
8.404 1- | 234
8.611 1- | 235
8.825 1- | 236
9.050 1- | 237
9.078 1- | 238
| 239
| 9.107 2(+) 240
| 9.107 1(+),2 241
| 9.107 2(+) 2492
| 9.107 2(+) 243
| 9.107 2(+) 244
| 9.107 1(+) 245
|  9.108 2(+) 246
| 9.108 2 247
|  9.108 2(+) 248




gap 2p = 2.082 ( 0.001)
gap 2n 0.562 ( 0.000)
gap alpha = 0.421 ( 0.001)



